N

=

goano

= g 000000000000 N
0O 00 20080 61 2201 \/) . 0 D000000000000000000 @
.~ 00D0ODODDODOO - E 00000000,00000000

N | 20k 0O00000000000000

DDD DDDD

’
O ooo
" 30kg

& ooo

“ = 100kgD O O)
“mem
\ o
\

/400U O D), |

Eninln

\ |

90kg
50kg(D O

gooo

V
gogo

ooooo 0,

00 0000 gooog goo

oo

DDDDDD 130kg 285kg(0
0ooooo
oooo
/ O0O0O0O0OD0Ododoo-9004-7680
00000000 000o0279-75-3768 OO0 O000 15000
00O 000000 00279-75-0692 0000 000) 23000
ooo oooo 000000 00279-69-3448
0000 73500
0oo / 000 0 0 O 0 090-9840-0807
0000 6000
— ooooonOo  0279-68-03299
1 100kg(O O)
" 300kg(0 ) ooob@b)boDoed1noed2o0 00000 00000000 0279-75-4114

goboooooooooboboiods3ogg ooooooo0oon



